
Fun Baccalaureate from Anne-Lise  
 

 

1 – A big crocodile and a small crocodile are lying in the sun, the small one is the big one’s 

son but the big one isn’t the small one’s father, who is it? 
 

2 – How much are 56 times one-half plus 10? 
 

3 – How many animals eat with their tail? 
 

4 – How many animals of each species did Moses put in his ark? 
 

5 – How many months of 28 days are there - given that there are some with 30 or 31 days? 
 

6 – How many pairs are there in a dozen of pairs of socks? 
 

7 – There are 3 apples on the table, you take 2 of them, how many have you got? 
 

8 – You and your friend have each the same amount of money in your pocket, how much do 

you have to give him to get 10 € less than him? 
 

9 – You take part in a cycling race including 48 racers, if you overtake the penultimate (= last 

but one = second-last = avant-dernier), which position are you now? 
 

10 – In a farm, there are 48 pigs, all of them die with the swine fever except 8, how many are 

left? 
 

11 – A drake (canard) is perched on a thatched-roof (en chaume) angled 45 degrees on the right 

side and 55 degrees on left side, which side is the egg going to roll? 
 

12 – You are sick, you must take 5 tablets (=pills) at a rate of 1 each half an hour, how long 

will your treatment last? 
 

13 – In Arabia, can a man marry his widow’s sister? 
 

14 – A plane crashes at the french-swiss border, where should the rescued ones be buried? 
 

15 –Toto’s sister has 4 brothers: Peter, Paul, Jack and ….? 
 

16 – Knowing that George is born on a 29th of February and all the bissextile years come 

back every 4 years, what is – according to you – the percentage of chance that his birthyear 

was a bissextile year (= a leap-year)? 
 

17 – Can you find somewhere a stone with the original inscription: 30BC? (=Before Christ) 
 

18 – It takes Toto one hour and a half to go to school but only 90 minutes to come back 

home. How come? Can you find at least one explanation...  
 

19 – There are 9 crows in a tree, a hunter comes and kills in quick succession 2 crows, how 

many crows are left in the tree? 
 

20 – Does the 14th of July exist in England? 

 

CLICK HERE FOR THE ANSWERS 
 

 

https://flh-anglais-italien.fr/wp-content/uploads/2024/09/cours-anglais-hennebont-anne-lise-fun-baccalaureate-quizz-answers.pdf

